MUSICAL EXAMPLES - SESSION 1

EXAMPLE 1

[Exercise #2 - Block F|
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[Exercise #5a - F Descending |
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[Exercise #5a - F Descending |
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[Exercise #5b - F Ascending |
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EXAMPLE 2

|Exercise #3a - Remington (down to B ﬂat)|
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| Exercise #3b - Remington (up tp C)]
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continue to C

|Exercise #4a - Articulation Exercise|

0
SV O

I/
X

(@)

7

7

| Exercise 4b - Articulation Exercise (with spaces)]|
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|Exercise #5 - Intervals|
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EXAMPLE 3

|Excrcisc #3a - F around (in quarters)|
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\Exercise #3b - F around (seamless)|
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\Exercise #4a - F Descending (full octave)|
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[Exercise #4b - F Ascending (full octave)|
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[Exercise #5a - Lip Vibrations (woodwinds play, brass answer on mouthpiece)|
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MUSICAL EXAMPLES - SESSION 2

EXAMPLE 2
A | Exercise #3 - More advanced Remington (vary articulation)|
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A |Exercise #4a - Volume control exercise
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Group 1 - sustain whole note
Group 2 - play moving line

| Exercise #6b - Divided interval exercise |
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Group 1 - sustain whole note continue to C

Group 2 - play moving line






